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A mat which is defiled through a Zohv, etc. — 5910 212 RRURR YRR

OVERVIEW
The X713 concluded the 1"p that a Y97 which is 212 Xnun (as opposed to 2%1vp 1°39) is
surely nn2 Xnvn (as 0°10p 1D are). NMOOIN explains why we cannot refute this 1"p.

nooIn asks:
= 11999 DN 1919 9PN DN D 9NN ON)

And if you will say; an earthenware utensil which is tightly covered will prove
that it is not necessarily so that something which is 212 Xavn is nna v, for this AT 071 °9
N5 TNX -

- N2 NAVY DY MHYISTI VDN 212 NPVNPY
Which is voo72 212 Xnwun as I explained previously, but nevertheless it is 9% by

Nt 9N similarly by vom, the fact that it is 212 X2 is not conclusive that it is nna Xnv.

n90IN answers:
= DN T8N N1 919910 TPPYW NIT 0N 13939 9IIN)

And the n"'= answers that it is not possible to bring a proof from »np 792X that
something can be 212 X1v» and not be nNMa RnpvnA -
= 22 NNVN NN 22 NIVNIY )?IYd *9IVY

For in the manner which the 2°no 7% is 212 X%, it would also be n»a N»wn —

mooIn explains:
= 12912 ¥X) ATV 1D MHNT DIYN INT VDINI NNVNY NPT

For the reason the "X ap1a ¥90 is 217 vweTa X»w» that is because it is considered

as if the 21 touched the inside of the vessel. n19on proves this -
= 10500 At N N1 999 NINY YN INTIN Cyngn nwas 0203 nnn) 11Y9INTI

As we say; which is the touch which is considered as if he touched the entire

vessel, I would say this refers to moving it; it is considered as if he touched the inside of
the vessel as well.
NPV 790 19903 NN 192 N2 NN ON 293 NN

!'See 11 1"7 ' on this Ty [TIE footnote # 9-10].

% See 2 71297 3 KNWwD 021 p1d. The 109 states (0,00 [YM¥n] X1p*) that 22w 217 12 3 WK WA 9. It cannot mean

that the 21 merely touched the o7 *2> (from the outside) for a 07m %5 is Xwn only from the inside airspace (even

without touching). It must be referring to such a touch which is considered as if he touched the entire vessel (the

inside and the outside); this refers to vo>;1 for by moving it he moves the entire vessel.

? The words 12 ¥3* 7wX mean that he touches the entire vessel (by moving it).

* When we say that 5"% is V072 212 Xnun, what we are really saying is that a 5"¥ is 177X Xnun since by v it is
1
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So also by a corpse if a n 1> of the n» was inside the "% 717 °%> it would also
be KW, There is no case of 2°nd 71X that is VO3 XML and MR L.

SUMMARY
The vo 1 XMW is considered as if the 21 is touching the inside of the *22.

THINKING IT OVER

The reason there is no XMW of N1 by a 8"X is because the N1 cannot go inside (and
cannot be von),” as opposed to a a1 where he can be v°on and it is considered as if
he touched it inside. This indicates that if something is not physically possible we
do not consider it (a X71?). However by 0°10p 125 we consider it a X71p that it is not
212 Xnvn, even though the reason it is not 217 Y312 Rnwn 1s because it is physically
impossible to touch the inside of the 2%1vp 1°25. Why by 2°1vp 1°39 is it considered a
X21p, but not by »ns Tnx?!°

considered as if the 21 touched the vessel from the inside (37"Xn). Therefore we cannot contrast it and say that
nevertheless a "X is not N2 Rnvn; that is not true; the same way a 5"X¥ is VO 2 XnvA (that is 17"IRN) it is also NH2 KA
(if the nni7 w2 is inside). [There is merely no possibility for the N to be v°on; otherwise the same XMW that there is
by a1 (which is vo17 or @192 yan), there is also by nn (if the n» was inside the 5"X). See ‘Thinking it over’.]
> See footnote # 4.
% See mwn nbma.
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